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9-21	1. $509,500; 2. 14,561 units; 3. $474,500; 4. 20,622 units (rounded up); 5. 36,061 units
9-22	1. $350,000 (53.85%); 3. MOS = $200,000, Operating Profit = $70,000
9-23	1. $107,692.31; 2. $347,692.31; 3. $1,390,769.23; 4. $960,000
9-24	1. 18,750 units; 2. $187,500; 3. 28,750 units; 4. $275,000; 5. 27,679 units (rounded up)
9-25	1. Machine A: 100,000; Machine B: 120,000; 2. 197,143 units; 3. Cost for A = $265,000; cost for B = $264,000
9-26	1. Company A: 1.43; Company B: 2.33; 2. A’s change in operating income = 14.3%; B’s change in operating income = 23.33%
9-27	For School A, annuity value (today) of $100,000 implies an annual five-year salary of $23,742; for School B, the present value of $250,000 implies an annual salary of $59,354. 
9-28	1. Indifference point = 33,582 miles over three-year period; 2. $5.637/gallon (on average)
9-29	1. 165,333 copies per year; 2. $0.0957 per copy; 3. Three-year projected savings = $2,600
9-30	No check figure.
9-31	No check figure.
9-32	1. Total B/E units = 517.65; 2. Brighter, 207.05882; Cleaner, 310.58824; 3. $465,882
9-33	1. $25,000,000; 2. $51,666,667; 3. Variable cost ratio = 0.7840; B/E = $34,722,222
9-34	2. Required price increase = $101.67
9-35	No check figure.
9-36	No check figure.
9-37	1.B/E units = 15,000; B/E $ = $675,000; 2. $75,000; 3. MOS = 17,000 hats (53.125%); 4. B/E = 17,000 units; operating income = $58,500
9-38	1. B/E = 20,000 units (16,000 of A, and 4,000 of B); 2. Same answer as 1; 3. B/E = 4,000 “baskets” (each of which contains five items) (16,000 units of A, and 4,000 units of B); 4. overall breakeven point = $1,840,000 ($1,280,000 for Product A and $560,000 for Product B); 6. Percentage change in fixed cost = percentage change in B/E point = 10.00%.
9-39	1.12,000 units; 30%; $1,080,000; 2.13,111.11 units (or, $1,180,000); 3. 13,544 units (rounded up); $1,218,960; 4. $25,013 (difference is due to rounding up on sales volume); 5. Profits will decrease by $19,500; 6. Decrease $109,400 (to a loss of $136,400); 7. Net savings = $25,000. 
9-40	1.1,600 samples (tests) per year; 3.200 additional blood gas samples (or, 571 additional patients); 4. Required charge = $132.14 per test
9-41	1. $32,000; average billing rate at B/E = $35.56/hour; 2. 800 hours
9-42	1. ($6,500); 2. B/E in total sales dollars = $224,074; 3. Gasoline, $112,037; Food/beverage = $67,222; Other, $44,815; 4. Profit before tax = $23,500.
9-43	1. B/E = $17,800; 2. Required sales = $30,063 (rounded up); 4. Indifference point = $14,538 (rounded and in $000s)
9-44	1. B/E = 3,649 clients per year (rounded up); 2. Expected value = 12,600 clients in year 1; 4. Probability is approximately 95%; probability of generating at least $3,235,760 of operating income = 84.13%; probability of generating at least $8,235,760 of operating income = 50%; probability of generating incremental operating income of at least $8,235,760 = 50%.
9-45	1a. B/E = 480 seminar participants; 1b. 700 seminar participants; 2.1,054.5 participants (1,055 rounded)
9-46	1.contribution margin per unit, current plan = $46.50; contribution margin per unit, proposed plan = $31.25; B/E, current plan = 155,914 units; B/E, proposed plan = 136,000 units; 2. Indifference point = 196,722 units
9-47	1.exact breakeven points: 156,792 for the current plan, and 132,679 under the proposed plan; 2. calculated operating incomes at breakeven: $28 for the current plan, and $19 for the proposed plan (note: these differ from zero because the above-listed breakeven quantities were rounded up to the next whole number)
9-48	1.contribution margin = $11.30 per weekly subscription; contribution margin = $7.30 per monthly subscription; 2. contribution margin ratios: 24.0% (weekly); 38.4% (monthly); 3. B/E = 37,778 subscriptions (weekly = 7,556; monthly, 30,222); B/E$ = $929,333 (weekly subscriptions = $355,111; monthly subscriptions = $574,222); 6. required sales volume = 47,037 units; 7. required sales volume = 66,729 units
9-49	1.unit contribution margins, $270.00 (current) and $237.50 (proposed); B/E = 134,260 (current), and 96,632 (proposed); 2. Indifference point = 409,231 units; 5. DOL at Q = 400,000 units: 1.51 (current), and 1.32 (proposed); DOL at Q = 600,000 units = 1.29 (current), and 1.19 (proposed). 
9-50	1. Lifetime cost (Y) function, regular model: Y = $17,000 + (2,608.7 gals. × v), where v = cost of gas per gallon; 2. B/E gas price = $3.88/gallon; 4. Pseudo DOL: gas-powered car = 0.380; hybrid model = 0.325; 6. expected value, lifetime cost: gas-powered car = $27,401; hybrid model = $27,360 
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